Chapter 7

Data Structures and Objects

What is in This Chapter ?

Almost all programs require the use of some data as input to the problem being solved. Itis
often advantageous to group (or structure) related data together. This chapter discusses the
idea of creating data structures in Processing, which are also known as objects. Objects
are used as a way of keeping your data organized in a logical manner. In a follow-up course,
we will further develop the various concepts of Object-Oriented Programming.
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7.1 Simple Data Structures and Objects

Recall that we used functions and procedures to provide control abstraction in order to hide
low-level conceptual details within our algorithms so that they are simpler to read and
understand. There is another type of abstraction known as data abstraction. In this type of
abstraction we are interested in hiding information (or data) that will unnecessarily clutter up
an algorithm. The idea behind data abstraction is to group simple data values together which
have a well understood relationship.

For example, if we are mailing out an envelope (within Canada), then an address is assumed
to have this information:

1. name

2. street number Patty 0. Lastew

3. sf[reet name I57 Oaé St

4. city Ottawa. O Z6S5P2
5. province

6. postal Code

Whenever most people hear the word “address”, they understand that such information is
actually made up of some smaller, specific kinds of information. The address itself is not
complete unless it is has all of that information. In a sense, the individual pieces of
information make up (or define the structure of) the address.

We can create such “more abstract” types of data (e.g., like an address) simply by combining
or structuring the more primitive (i.e., simpler) pieces of data together in meaningful ways:

A data structure is a particular way of combining, storing and organizing
data so that it may be used more efficiently and in a more abstract manner.

We also use the word data type which is somewhat analogous to the term data structure. In

object-oriented programming languages, such as Java, a data type is also known as a class or
category, and defining a data type is also called defining an object.

A object represents multiple pieces of information that are grouped together.

Recall that a primitive data type represents a single s e
simple piece of information such as a number or ‘;\\
character. An object, however, is a bundle of data, which

can be made up of multiple primitives or possibly other

objects as well. You can think of an object as a bunch of C . i
small pieces of information with an elastic around it > primitive object
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Perhaps the simplest data structure is called a string which is a group of one or more
characters with a specific ordering. Characters by themselves are not very interesting.
However, when we group them together, we form a huge variety of words and seemingly
unlimited variety of sentences. Each word in the English language, for example, represents a
string data structure, as does each sentence, paragraph, page of text, etc...

@ [ [E Bl

In many programming languages (including JAVA), strings are represented by placing double
guotes around a set of characters like this:

String nane;

nane = "Patty O Lantern";

A string is not a primitive data type because it is made up of characters ... which themselves
are primitive data types. In fact, we can abstract out the notion of a string even further by
grouping strings together in a meaningful way to create an even more abstract data structure.

For example, consider an address as described above. A full address may be represented
using multiple numbers and strings as follows:

String nane, streetNunber, streetNanme, city, province, postal Code;
nane = "Patty O Lantern";

street Nunber = "187B";

streetName = "Oak St.";

city = "Otawa";

province = "ON';
post al Code = "K6S8P2";

Together, all of the variables above represent a full address. It would be advantageous if we
could define a single variable, perhaps called address, that can store all of the above
information:

Addr ess myAddr ess;
myAddress = ...??? .

Of course, we could combine everything into one big string ...
String myAddr ess;

myAddress = "Patty O Lantern, 187B Gak St., Otawa, ON, K6S8P2";

... but then it would be more difficult/cumbersome to extract the needed pieces of information
(e.g., street number or last name).
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Many programming languages allow you to “group” variables together into a structure of some
type. The process of defining which variables and types of data should be grouped together is
called defining a data structure (or defining a data type). In object-oriented languages
(such as JAVA) this is also called defining an object (or sometimes defining a class).

When defining such a structure (or class), we need to Address object
use the class keyword and we also need to specify the
name of the new type of data (e.g., Address) as well as

the names and types of data that is contained within it. [
The diagram on the right is a visual representation of name
the class definition: .
streetNumber
We will use the following notation to define this Address streetName
structure/class/object in JAVA:
_ city
public class Address {

String nane; . -

String st reet Nunber ; il

String st r eet Nane; —

String city; postalCode

String provi nce;

String post al Code;

}

Notice that we capitalized the data type Address. Itis proper coding style to ALWAYS
capitalize your class names. Note that the class name should also always be singular
(i.e., Address ... not Addresses).

The above notation shows that an address is made up of 6 pieces of

data with the given labels. Itis as if the Address data type is a r
“blank form” onto which we can fill in appropriate values. It defines
a kind of template for creating data of this type.

The code should be written all on its own as a new/separate JAVA
file. Thatis how we will define a new data type.

However, defining a data type does not actually create any variables, it only creates a
definition. When we actually want to use a data type, we need a way of specifying that we
want to create a new instance of this data type.

An instance of a data structure (or object) is a particular group of values for each of
the individual variables that make up the data structure (or object).

That means an instance is a particular object belonging to the category of objects defined by

the data type. For example, each of the following is an instance of the Address data type,
because they represent particular addresses:
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Address object 3
A
Address object 2 <
R name *o— “lim Class”
A—
Addressobject 1 -~ e
A name @——  “SendyBeach’ *— 25 4
— o — [ " stonest”
name @—— ‘Patty O.Lantern” i R e y —
— » . r— “Rockland”
streetMumber o— “1878" o— Beau Privee
l_ "~ o “oN"
streetName o— “Oak St *r—— Hull
— ~A— o— » "
) o— “ K7H5G3
city r— “Ottawa™ ac”
_ < ’_ A
province »r—r “ON" *r— “M4YSP7”
<

reAEl B 2 li_' “K155B6”

Notice in the diagram, that the String values are themselves shown as separate objects. That
is, the value of the name of the first Address object is a String object with the value "Patty O.
Lantern”. We use an arrow from one object to another to indicate that the object is inside of
another object. So, in the image above ... we can count the objects simply by counting the
boxes ... 21 in total for all three addresses combined.

In order to create one of these Address objects, we need to tell JAVA to create a new object
for us. This is done by using the new keyword in JAVA as follows:

new Address();
This will create the object by allocating enough memory to hold all of the address’ information..
You may want to think of the Address class as a factory that makes Address objects (i.e.,
makes instances of the Address class). In general, every time we use new, it is as if we go

to the factory for that class and buy a instance of the object. So... the class is the “factory”,
and the instance is the particular “object” that we can start using now in our programs.

The Address Class new Address() Instance of type Address
Patty 0. Lantew D
L | 157 Oak St
||'| T Ottawa. O RESEPE
A Person Class new Person() Instance of type Person

{y_‘. Il [
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A House Class new House() Instance of type House

Of course, once the object is created, we need to store it znaddress Address object
into a variable so that we can access and modify it later. varighle
The variable can have any name, but its type MUST be w4
declared with the exact same name as the class as @ name |
follows:
streetMumber | cen
Addr ess anAddr ess; trectiame I_
anAddress = new Address(); ity I_
The anAddress variable now holds an instance of the s |
Address class.
postalCode | cen

Just to help you understand how this all works, let us
compare what we just did to what we would have done without the Address class definition.

If we were to define 6 separate String variables to store the information like this:

String nane;

String street Nunber ;
String st r eet Nane;
String city;

String provi nce;
String post al Code;

then we would be reserving space for 6 variables as follows:
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However, when creating an instance of an object, although we are actually storing the same
data, we are only defining one variable to hold on to ALL 6 pieces of data. Itis as if we are
taking all of the data and putting it into a larger box like this:

There is a term that we use to describe the pieces/variables of a particular instance of a class.
We call them instance variables, since they are just regular variables ... that happen to be
grouped together to form a particular instance of the class.

. . anAddress Address abject
Once we create the object, we can start to use it. varioble ™
|#¥ instance vorioble
We can access the individual parts (i.e., instance variables) & neme null
of an object by using the dot operator as follows: instance varigble
streetMumber null
Addr ess anAddr ess; instance varioble
dot streetMame null
anAddress = new Address(); fﬁ;ﬂﬂ?“ﬂfﬁ“ﬂ _—
System out. printl| n(anAddr essdnane) ; : :
System out . printl n(anAddr ess. street Nunber) ; '“;';‘T'ﬁ;’““" aull
System out. printl n(anAddr ess. street Nane) ; _ _
// etc instance variohle
T T postalCode null

So, instance variables are used just like regular variables,

except that we now precede the variable name by the object's variable name and the dot
operator. The dot operator indicates to "go inside" the data type to get a piece of information.
That is, we are getting more specific as to what particular piece of data we want. Whenever
we use, for example, anAddr ess. nane, it behaves just like any other variable and refers to
the data stored in the "name" part of the address’s memory. The above code, however, will
not print out anything exciting. In fact, it will print out:

nul |
nul |
nul |
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Why ? Well, by default, when we create an object using the new keyword, JAVA will allocate
space for the object, but will not assign any values to the instance variables. Any instance
variable which has a primitive type (e.g., int, float, char, etc...) will have a default value of 0.
Any instance variable with an object type (e.g., String) will have the default value null.

Null is a word that represents an undefined value. If a variable has a
value of null, it usually means that it has not yet been given a value.

So, in our example above, we saw null printed 3 times because none of the three String
variables were given a value ... and since Strings are objects (i.e., not primitives), then we see
null displayed. Regardless of what is displayed, the code does not make sense logically
because we are trying to print out the address’s name before we have assigned a value to it.

We can then assign values to the individual instance variables of an object by using the dot
operator again as follows:

Addr ess anAddr ess;

anAddress = new Address();
anAddress.name = "Patty O Lantern”;
anAddr ess. street Nunber = "187B";
anAddress. streetNanme = "Oak St.";
anAddress.city = "Qtawa";

anAddr ess. provi nce = "ON';

anAddr ess. post al Code = "K6S8P2";

System out . printl n(anAddr ess. nane) ;
System out . printl n(anAddr ess. street Nunber) ;
System out . printl n(anAddr ess. street Nane) ;

Address object
anAddress

varighle
inst@nce variohle

o name @—> “Patty O.Llantern”

instance variohle
streetMNumber

ﬁ- “13 ? E"

instance variohle

streetName  r— “Oak 5t."

instance variohle
Elt'l" .—.. “Ottawa”™
instance variohle

p rovince .—.n. MD Nn-

instance variohle

postalCode r—r e 1SEBE"

Now, we will see the output that we expected:

Patty O Lantern
187B
Cak St.
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Sometimes, however, when we create our objects ... some
information may be missing. For example, when we give a local
person our address on a piece of paper, it is likely that we’ll only
give them the street number and name.

In this situation there will be some missing information. Perhaps
the missing information is assumed to be particular values. For
example, we may assume that the

city and province are local to nAddress Address object
where we received the piece of variable 8 :
aper. instance varighle
pap .f"" name @—» “Patty O.lantern”
As mentioned, the value of the el —— B
instance variables in this case are etance varible
null (or O or false in the case of streetMName o— “Oak 5t.7
pri m itiveS) . instance variahie
city null
When using the object, we always J’ﬂ;ﬁgﬂfﬁgﬁﬂﬂe -
want to be aware that there could
. . . instance varighle
be data missing. That is, we postalCode null

need to be aware of cases where
null may appear.

Why ? Well, null is an undefined object. If we try to use an object that is not defined, then
our program will crash.  For example, consider this code:

Addr ess anAddr ess;

System out . printl n(anAddr ess. nane) ;

The code will not compile but will instead give you this error:

Error: variabl e anAddress m ght not have been initialized.

JAVA noticed that we are trying to access the address's name attribute ... but that we have not
yet assigned an initial value to our anAddress variable. It is reminding us to do so. We had
forgotten to do new Address() ;.

However, sometimes java will not catch your error during the compiling stage. Consider the
following code which is supposed to print out the person's first initial:

Addr ess anAddr ess;

anAddress = new Address();
System out . printl n(anAddr ess. nane. char At (0));

This code compiles but then crashes with an error that looks something like this:
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j ava. | ang. Nul | Poi nt er Excepti on
at Test Code. mai n( Test Code. j ava: 12)
at sun.reflect.NativeMet hodAccessor | npl.invokeO(Native Mt hod)
at sun.reflect.NativeMet hodAccessor | npl . i nvoke(Unknown Source)
at sun.reflect. Del egati ngMet hodAccessor | npl . i nvoke(Unknown Sour ce)
at java.lang.reflect. Method. i nvoke(Unknown Sour ce)
at edu.rice.cs.drjava. nodel . conpil er.JavacConpi | er.runComrand(Javac. j ava: 72)

A NullPointerException basically means that we are trying to go inside of an object that has
not been defined. But didn't we already define the Address object ? Yes ... however ... we
did not give an initial value to the name attribute. Notice that we are trying to go inside the
name attribute now to call a function on it ... the charAt(0) function ... which gets the first
character of the String. Since the String itself is null, we cannot call the function on it ... so
JAVA gives us a NullPointerException to tell us that it won't work. It actually, also tells us
the method name as well as the line number that caused the problem so that we can find it and
fix it. In this case, itis an easy fix ... just assign a value to the name attribute of the address:

Addr ess anAddr ess;
anAddress = new Address();

anAddr ess. nane = "Bob";
System out . printl n(anAddr ess. nane. char At (0));

At this point, it would be good to mention something about variable bindings. A variable is
bound to (i.e., attached to) a value when we assign something to it using the = operator.

You need to understand that each time we make a new object, we get back a new instance of
that object which is stored in a separate location in memory.

myCar yourCar bobsCar
Car nyCar, yourCar, bobsCar;
myCar = new Car ();

your Car new Car () ;
bobsCar new Car () ;

So in the above code, all three variables point to different/unique objects. In fact, it is often
the case that one or more variables may point to (or refer to) the same object.

For example two people may share the same car as in this code: myCar  yourCar
Car nyCar, yourCar;

myCar = new Car ();
your Car = nyCar;

In this case, the two variables point to the exact same object.
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What would happen if we re-assign a value to an object variable ?

Car nyCar ;

myCar myCar
myCar = new Car ();
1.,
nmy Car new Car () ;

In this case, the previous Car

object that was assigned to the

myCar variable is discarded and

the variable simply points to the Before
new Car object.

After

Supplemental Information (The Garbage Collector)

Objects that have been created and are no longer being "pointed to" by anyone are garbage
collected. Garbage collection usually does not happen immediately when you are finished
with an object. It may happen at a later convenient time (decided upon by the Java Virtual
Machine). Note that in the example above, the old car may not be garbage collected
immediately, and so it may actually remain around for a while.

The garbage collector :

e is alow priority process running in the Java Virtual Machine
e is used to free up memory for unused objects

e IS necessary to release resources

e runs automatically, programmer need not do anything

e can be forced to run by using System.gc()

Example:

Recall the LoanApplicationProgram from chapter 2. In that example, we asked the user to
enter information as an applicant applying for a loan. We then stored the
information into these four variables:

bool ean enpl oyed;
bool ean hasDegr ee;

i nt age;

i nt year s\Wr ked;
Since all of this information pertains to the public class Applicant {
applicant, we can actually combine all of it into bool ean enpl oyed;
a Applicant data type by defining an :ngl ean ggzpegr ee;
Applicant class as follows: Nt yea:rsvwr ked:
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Then, in the main code, we simply create a single variable ot type Applicant instead of the

four variables:

Applicant applicant;

The following page shows a table with the original code on the left and the code using the

Applicant class on the right.

The code has been simplified to fit into the table and some of

the code has been left out completely. Just try to understand the differences:

Using Local Variables

public class LoanQualificati onProgram {
public static void main(String[] arg) {

char char | nput ;

bool ean enpl oyed, hasDegree;
i nt age, yearsWrked;

/1 ... some code has been onmitted ..
Systemout.print("...");
charlnput = ...;

enpl oyed = ...;
Systemout.print("...");

charl nput = .

hasDegree = ...;
Systemout.print("...");

age = ...;
Systemout.print("...");

yearsWorked = ...;

if (enployed) {
i f (hasDegree)
Systemout.printiln("...");
el se {
if (age >= 30) {
if (yearsWrked >= 10)

el se

}

el se

el se

}
}

Using the Applicant Object

public class LoanQualificationProgram {
public static void nmain(String[] arg) {

char char | nput ;

Applicant applicant;

appl i cant = new Applicant();

/1l ... sonme code has been onmitted ..
Systemout.print("...");

charlnput = ...;

appl i cant. enpl oyed = ...

Systemout.print("...");
charlnput = ...;
appl i cant. hasDegree = ...

Systemout.print("...");
applicant.age = ...

Systemout.print("...");
appl i cant. yearsWrked = ...

if (applicant.enployed) {
i f (applicant. hasDegree)
Systemout.printin("...");
el se {
if (applicant.age >= 30) {
if (applicant.years\Wrked>=10)

el se

}

el se

el se

}
}

All of the applicant's information is now packaged into the single Applicant data structure and

stored in the applicant variable. The code seems longer.

for more abstract use.

However, the data is now set up
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For example, assume that we created a function to get the user’s information and another to
determine whether or not they qualify. Notice the simple main code:

public static void main(String[] arg) {

}

Systemout.println("Welcone ...");

Appl i cant applicant = getUserlnformation();
det erm neQual i fications(applicant);

System out. println("Thank you, have a nice day ...");

Notice how the Applicant object is created in the getUserinformation() procedure, populated
with information from the user, and then returned to the main algorithm:

public static Applicant getUserlnformation() {
Applicant applicant = new Applicant();

Scanner keyboard = new Scanner (Systemin);
Systemout.print("...");

char charlnput = ...;
appl i cant. enpl oyed = ...

System out . prlnt( ");
charlnput = ...
applicant. hasDegree = ...
Systemout.print("...");
applicant.age = ...;
Systemout.print("...");

applicant.yearsWrked = ...;

return applicant;

}

Notice how the return type of the function is Applicant and that we are returning an Applicant

object.

object

The determineQualifications() procedure then accepts an incoming Applicant
(which is labelled as appl) and uses it within the code for making various decisions:

public static void determi neQualifications(Applicant appl) {
i f (appl.enployed) {
i f (appl.hasDegree)
Systemout. println("Congratulations ...");
el se {
if (appl.age >= 30) {
if (appl.yearsWrked >= 10)

Systemout. println("Congratulations ...");
el se
Systemout.println("Sorry..");
}
el se
Systemout.println("Sorry..");
}
}
el se

Systemout.println("Sorry..");
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Within the determineQualifications() procedure we simply use the dot operator to get at the
specific piece of applicant information that we need.

There are some advantages of using this new data structure:
1) The main algorithm is more abstract and simpler to understand

2) If we add additional qualification parameters (e.g., marital status, # of dependants, credit
history, etc...) then the main program remains unchanged.

The code is thus simpler and more organized with the use of the data structure/object.

However, it is not always obvious to know what kind of information (i.e., attributes/components)
should make up a data structure/object. That s ... there is not always a “well defined” set of
data that make up the object. For an Address data structure, it is somewhat obvious.
However, what about a Person data structure ... what should “make up” a person ?

Some possible attributes of a Person data structure may be firstName, lastName, age,
gender and retired. Why would we choose these ? In reality, our choice of attributes
depends on the application that we are trying to develop. For example, while the age and
gender may be vital pieces of information for a program that determines players on a team
sport in some league, information about whether a person is retired is not necessary. And for
medical applications, perhaps weight and height are vital pieces of information. If it is to be
an online social network application, perhaps emailAddress is an important piece of
information that all Persons should have. The choice of a data structure’s attributes really
depends on the application.

As another example, consider defining a Car data structure. We should think of what
characteristics we will need to store for each car (e.g., make, model, color, mileage, etc..):

Again, the choice will depend on the program/application you are making. Consider these
possible applications in which a Car data structure may be used:

a program for a car repair shop

a program for a car dealership

a program for a car rental agency

a program for an insurance company

So, now let us examine what kind of attributes (i.e., instance variables) that we would likely
need to define for a Car in each of these individual applications:
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e repair shop
make, model, year, engine size, spark plug type, air/olil filter types, air hose
diameter, repair history, owner etc..

e car dealership
model, price, warranty, interior finish (leather/material), color, engine size, fuel
efficiency rating, etc...

e rental agency
sedan or coupe, make, model, license plate, price per hour, mileage, repair
history, etc...

e insurance company
year, make, model, owner, vehicle identification number, insurance type (e.g.,
fire/theft/collision/liability), color, license plate, etc...

So you can see that it is not always straight forward to identify the components of a data
structure. You need to always understand how it fits into the application.

Example:

Recall our FireSpreadSimulation program which created three arrays to store the points
along the fire border as follows:

public static int[] bor der X; /1 x val ues al ong border of fire ' ‘
public static int[] bor derY; /1 y values al ong border of fire
public static float[] borderCost; /1 costs along border of fire

border X = new i nt[1000];
borderY = new i nt[1000];
border Cost = new fl oat[1000];

Instead of doing things this way, we can define a class called FirePoint as follows:

public class FirePoint {

i nt X;
i nt y;
fl oat cost;

}
Then, we can replace all three arrays with just one as follows:

public static FirePoint[] bor der; /1 points along border of fire

border = new FirePoi nt[1000];

How will this affect the code in the program ? Well, notice below how the code for starting the
first three fires will change. The old code is on the left compared to the new code on the right
which uses the new class.
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You will notice that the array name is consistent now (i.e., only one array) and that we use the
dot operator to go into each FirePoint to set the x, y and cost. Itis important to create a new
FirePoint each time, otherwise space is not reserved for the data and we would get a
NullPointerException when trying to set the x, y & cost values.

border[0] = new FirePoint();
border X[ 0] = 85; border[0].x = 85;
borderY[ 0] = 70; border[0].y = 70;
border Cost[0] = O; border[0].cost = O;
border X[ 1] = 120; border[1] = new FirePoint();
border Y[ 1] = 30; border[1].x = 120;
border Cost[ 1] = O; border[1].y = 30;
border[1].cost = 0;
border X[ 2] = 20;
border Y[ 2] = 20; border[2] = new FirePoint();
border Cost[ 2] = O; border[2].x = 20;
border[2].y = 20
border[2].cost = O;

In the main loop for spreading the fire, notice

i nt pX = border X[ borderSi ze-1] ;
i nt pY = border Y[ borderSi ze-1];
fl oat pCost = borderCost[borderSize-1];

terrain[pY] [ pX] = BURNED

if ((pX > 0) &% isBurnabl e(pY, pX-1)) {
terrain[pY][pX-1] = FIRE
bor der X[ bor der Si ze] = pX-1;
bor der Y[ bor der Si ze] = pY;
bor der Cost [ border Si ze] = pCost + 1 + (int)(Mth.randon()*3);
bor der Si ze++;

}
/] etc ...

The new code with the single border array of FirePoints looks like this:
FirePoint fire = border[borderSize-1];

terrain[fire.y][fire.x] = BURNED

if ((fire.x > 0) & isBurnable(fire.y,fire.x-1)) {
terrain[fire.y][fire.x-1] = FIRE
bor der [ border Si ze] = new FirePoint();
border[borderSi ze] .x = fire.x-1
border[borderSize].y = fire.y;
bor der [ border Si ze] . cost = fire.cost + 1 + (int)(Math.randon()*3);
bor der Si ze++;

}
/] etc ...

Note that we no longer need pX, pY and pCost variables but just the fire variable now.
There are other similar changes to the code ... see if you can get it all working with the new
FirePoint data structure.
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Example:

Let us write a program that will simulate some balls bouncing around in a window. To begin,
we will create a Ball class to represent a ball. Each ball will have a different size, and will
have a unique location within the window and will be moving towards some direction at some

specific speed. So, here is the class that we will use:

public class Ball {
i nt X;
i nt y;
fl oat direction;
fl oat speed;
i nt radi us;

}

Here will be the code that will represent the panel that
will draw the balls (do not worry about understanding
it). It is similar to the TerrainPanel from our
FireSpreadSimulation example:

i mport java.awt.*;
i mport javax.sw ng.*;

public class Ball Panel extends JPanel {
public static final int WDTH = 800;
public static final int HEl GHT = 600;

private static Ball[] balls;

public Ball Panel (Ball[] b) {
balls = b;

}

super . pai nt Corponent (g) ;

g. set Col or (Col or. RED) ;
g.fillOval (balls[i].x-balls[i].
bal I s[i].y-balls[i].
bal I s[i].radi us*2,
bal I s[i].radius*2);
. set Col or (Col or. BLACK) ;
.drawOval (bal I s[i].x-balls[i].
bal I s[i].y-balls[i].
bal I s[i].radi us*2,
bal I s[i].radius*2);

[(e (]

}

|4 B Srvadation e .

set PreferredSi ze(new Di nensi on(W DTH, HElI GHT) ) ;

public void pai nt Component (Graphics g) { // Display the inmage

for (int i=0; i<balls.length; i++) {

r adi us,
r adi us,

radi us,
r adi us,

The above code requires us to pass in an array of Ball objects to the panel so that it can
display them each time we repaint the window. Consider now the code to create the window

and add three balls:
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i mport java.awt.*;
i mport javax.sw ng.*;

/1 This application simnmulates balls bouncing in a w ndow
public class Ball Simulation {
public static Ball Panel bal | Panel ;

/] Create a window with a Ball Panel, add 3 balls and start the simulation
public static void main(String args[]) {

Bal I [] balls = new Bal I [ 3];

bal Il s[0] = new Ball ();

bal I s[0].x = 100;

balls[0].y = 100;

bal | s[0].direction = (float)(Math.randonm()*2*Mat h. Pl);

bal I s[0] . speed = 15;

bal I s[0] . radi us = 20;

bal I s[1] = new Ball ();
bal I's[1].x = 400;
balls[1] .y = 300;

bal I s[1].direction = (float)(Math.random()*2*Math. Pl);
bal | s[ 1] . speed = 10;
bal | s[1].radi us = 30;

ball s[2] = new Ball ();
bal I s[2] . x = 600;
balls[2].y = 400;

ball s[2].direction = (float)(Math.randon()*2*Mat h. Pl);
bal | s[ 2] . speed = 5;
bal I s[ 2] . radi us = 50;

JFrame franme = new JFrame("Ball Sinulation");

frane. add(bal | Panel = new Bal | Panel (balls));

frane. set Def aul t O oseQperati on(JFrane. EXI T_ON_CLOSE)
frame. pack();

frame. set Visible(true);

start Si mul ati on(balls);

}

The code for creating the array of balls and adding three balls is straight forward. The only
method missing is the startSimulation() procedure which will perform the simulation by
moving the balls around properly. Here is the idea behind what we need to do:

public static void startSinulation(Ball[] balls) {
while(true) {
for (int i=0; i<balls.length; i++) {
/1 ... nmove ball forward ..
/1 ... check if ball collides with borders and adjust accordingly ..

bal | Panel . repaint();
try{ Thread.sleep(10); } catch(Exception e){}; // To slow things down
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The code will run in an infinite loop (i.e., the program won't end on its own). Each time, it goes
through the balls one at a time, updates them and then repaints the window and delays a bit.

It seems fairly straight forward, but two questions arise:

1) How do we “move the ball forward in its current direction” ?
2) How do we “change the direction accordingly” ?

The first is relatively simple, since it .

is just based on simple trigonometry. (}{ + dCDS(B); Y + CISIF’I(B))
Given that the ball at location (x,y)
travels distance d in direction 0, the

ball moves an amount of decos(8) horizontally

and desin(0) vertically as shown in the diagram.

dsin(©)

(X,y)

So, to get the new location, we simply add the
horizontal component to x and the vertical
component to y to get (x + dcos(8) , y + dsin(0)).

v
dcos(B)

Here is the code to move the ball forward d pixels:

balls[i].x = balls[i].x + d * Math.cos(balls[i].direction);
balls[i].y = balls[i].y + d * Math.sin(balls[i].direction);

However, the value of d, will depend on how fast the ball is moving, so this is what we want:

bal I's[i].x
bal I s[i].y

balls[i].x + balls[i].speed * Math.cos(balls[i].direction);
balls[i].y + balls[i].speed * Math.sin(balls[i].direction);

Now what about changing the direction when the ball encounters a window “wall” ? Well, we
would probably like to simulate a realistic collision. To do this, we must understand what
happens to a real ball when it hits a wall.

You may recall the law of reflection from science/physics class.
It is often used to explain how light reflects off of a mirror. The
law states that the angle of reflection is the same as the angle
of incidence, under ideal conditions. That is, the angle at which
the ball bounces off the wall (i.e., 0, in the diagram), will be the
same as the angle at which it hit the wall (i.e., 6; in the diagram).

However, where do we get the angle of incidence from ?
Well, we have the direction of the ball stored in its direction

attribute. This direction will always be an angle from 0 to 360° (or
from O to 21 radians).
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So, our ball's direction (called a for the purpose of this
discussion) is always defined with respect to 0° being
the horizontal vector facing to the right. 360° is the
same as 0°. As the direction changes counter-
clockwise, the angle will increase. |If the direction
changes clockwise, the angle decreases. Itis also
possible that an angle can become negative. This is
ok, since 330° is the same as -30°.

Now, if you think back to the various angle theorems
that you encountered in your math courses, you may
remember these two:

1) the opposite angles of two straight crossing lines are equal
2) the interior angles of a triangle add up to 180°

So, in the diagram on the right, for example, the

1% theorem above tells us that opposite angles B, and B3
are equal. From the law of reflection, we also know that
B1 and B3 are equal. Finally, a and B3 add up to 90°.

What does all this mean ? Well, since a is the ball’'s
direction, then to reflect off the wall, we simply need to
add B1 and B; to rotate the direction counter-clockwise.
And since B1, B2 and B3 are all equal ... and equal to
90° - a, then to have the ball reflect we just need to

do this:

direction =direction + (B1 + B2)

direction + (90° - a + 90° - a)
direction + (180° - 2 x direction)
=180° - direction

The vertical bounce reflection is similar. In the

diagram here, it is easy to see that ; = 90° - a. ' 5 f,f’”’
To adjust for the collision on the top of the : VS
window, we simply need to subtract 2a from the e o
direction: ' )

direction =direction - 2 x direction)
= - direction

To summarize then, when the ball reaches the
left or right boundaries of the window, we

negate the direction and add 180°, but when it
reaches the top or bottom boundaries, we just negate the direction.

Here is how we do it;
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if ((balls[i].x >= BallPanel .WDTH) || (balls

[i].x <= 0))
balls[i].direction = (float)(Math.Pl - balls|

].direction);

if ((balls[i]l.y >= BallPanel.HEIGHT) || (balls[i].y <= 0))
balls[i].direction = - balls[i].direction;

Our calculations made the assumption that the window boundaries are horizontal and vertical.
Similar (yet more complex) formulas can be used for the case where the ball bounces off walls
that are placed at some arbitrary angle. Also, all of our calculations assumed that the ball was
a point. In reality though, the ball has a shape. If, for example, the ball was drawn as a circle
centered at (x,y), then it would only detect a collision when the center of the ball reached the
border. How could we fix this ?

We just need to account for the ball’s radius during our collision checks:

if ((balls[i].x + balls[i].radius >= Bal |l Panel. WDTH) ||
(balls[i].x - balls[i].radius <= 0))
balls[i].direction = (float)(Math.Pl - balls[i].direction);

if ((balls .y + balls[i].radius >= Ball Panel . HEl GHT) |

[i]
(balls[i].y - balls[i].radius <= 0))
balls[i].direction = - balls[i].direction

Here is the completed method:

public static void startSinulation(Ball[] balls) {
while(true) {
for (int i=0; i<balls.length; i++) {
/1 Move the ball forward
balls[i].x = balls[i].x + (int)(balls[i].speed*Math. cos(balls[i].direction));
balls[i].y = balls[i].y + (int)(balls[i].speed*Math.sin(balls[i].direction));

/1 Check if ball collides with borders and adjust accordingly
if ((balls[i].x + balls[i].radius >= Ball Panel.WDTH) |
(balls[i].x - balls[i].radius <= 0))
balls[i].direction = (float)(Math.Pl - balls[i].direction);

if ((balls[i].y + balls[i].radius >= Ball Panel.HEl GHT) ||
(balls[i].y - balls[i].radius <= 0))
bal Il s[i].direction = -balls[i].direction;
}
bal | Panel . repaint();
try{ Thread.sleep(10); } catch(Exception e){};
}
}

The use of the Ball data structure helps to limit the number of variables being declared and
passed around. It also allows us to hide details, making the code cleaner and more logical in
the way the code reads.
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7.2 Objects Within Objects

In real life, objects are contained within other objects.
For example, a car is an object which contains an
engine object and an engine contains other object parts
... etc... There can be many parts to a car, yet when it
is all assembled we end up with a single object, called a
car, which contains all the parts.

In JAVA, we can also create and store objects within
other objects without difficulties. This is often done in
order to design our objects similar to real life objects.

Address object

For example, consider the address’s instance variable
to store the name as a single string as follows: firsthiame i D CEE

middleMame 9y— o

anAddress. nane = "Patty O Lantern";

lastMame 9y— “Lantern”
It is sometimes desirable to be able to distinguish strestNumber | @— "1878"
between_ the first, middle and last names of a person. streetName | @———b  "OskSte
To do this, we would need to separate the names into _ = »

. . () ._.' e LT

different variables as follows: o

province »y— O

anAddress. firstName = "Patty";
anAddr ess. m ddl eName = "O ";
anAddr ess. | ast Name = "Lantern";

postalCode *r—+ P —

Then we can choose which portion of the person’s name that we want to use at any time. A
downside is that we now have to use 3 variables instead of 1. We could re-define the
Address data type as shown in the picture. This would suffice.

However, it is possible that Contract object
there are many objects for Mortgage objed
which we would like to store a firstName
first, middle and last name. fnsurancePalicy Feams
For example, insurance forms, Address object
mortgage papers, business
contracts, ownership papers, firstName |
etc.. Itis quite easy to simply middieName | |
duplicate all three pieces of I
data in each object as follows:
Rather than duplicate all three F
i

middleMame

firstName middleName lastMame

middleMame lastName

lastMame

lastName

BERRER

i S —— —

pieces of data each time, it
would be better to merge them
into one object.

|

|
:
F
1
1
1
F
F

- 225 -



COMP1405 — Data Structures and Objects Fall 2015

We can combine the first, middle and last names into their own
unique data structure (or class) as follows: Name object

public class Nane {
String firstNanme;
String nm ddl eNaneg;
String | ast Narre;

Then we could make use of this new object within our Address data structure as shown here.

Name object

From the picture you can see that the name stored in the Address structure is no longer a
simple string of characters. Now it is a different kind of data structure (i.e., object) of type
Name. Other objects can now make use of this Name class as well:

InsurancePolicy object Contract object
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The code for setting the name of anAddress would be as follows:
Addr ess anAddr ess;
anAddress = new Address();

anAddr ess. nane = new Name();

anAddr ess. name. first Name = "Patty";
anAddr ess. name. m ddl eNane = "Q. ";
anAddr ess. nane. | ast Nane = "Lantern";

anAddr ess. st reet Nunber = "187B";
anAddr ess. street Nanme = "Qak St.";
anAddress.city = "Otawa";

anAddr ess. province = "ON';

anAddr ess. post al Code = "K6S8P2";

Notice now that the dot operator is used twice: once to go into the address to get the name,
then again to get into the name to set the first, middle and last names.

The fun does not stop here. In fact, it is often the case that data structures use multiple layers
of other data structures within them. For example, consider the diagram below . Can you
create the class definition for the BankAccount object ... and then write the code that
produces the diagram itself ?

Nameabject

.t
-
firstName IT—.- "Patty®
BankAccount abjsct middleName IT—;- g
= Address object sthiame IT P
owner IT__,___._
accountNumber Im nams S
balance 234.23 stresthumber | @——> "1878"
streetMame IT—P "Oak 5t
~A——
city IT—P SOt
province IT—F mOp
-
pasailiis | @—— " gassae

If you cannot figure it out, spend some time with a TA or the instructor. It is important to
understand this stuff.
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7.3 Constructors

Creating an instance of a data structure that has many instance variables, may require many
lines of code. For example, creating and initializing a Ball object from our previous example
takes 6 lines of code as follows:

Ball b = new Ball ();

b.x = 100;

b.y = 100;

b.direction = (float)(Math.random()*2*Math. Pl);
b. speed = 15;

b. radius = 20;

Here, we supplied the initial values for our ball's instance variables. In JAVA, we can
significantly reduce the amount of code that we need to write when we create and initialize
objects by making use of something called a constructor.

A constructor is a special function that is automatically called to initialize a
new object.

The parentheses that appear when we do new Ball() gives us a clue that Ball() is in fact a kind
of procedure or function. In fact, this is actually a special kind of function known as a default
constructor ... which creates and returns a new fully-initialized object. That is, it reserves
space for the data structure’s attributes and sets all those with primitive types (e.g., int) to a
value of “zero” and all those with object types (e.g., String) to a value of null.

In our above example, however, we wanted to set the speed value of the ball to 15 and the
radius to 20 ... we did not want zeroes. In fact, each object that we create will often have its
own unique initial values.

In a way, the idea is analogous to buying a car ... we would like to have control to configure
our own car with our choice of various options (i.e., we often get to pick the engine size,
transmission type, car color, seat style, wheel size, accessories, etc..).

In JAVA, we may write our own constructor procedures so that we can ensure that our new
objects to have whatever initial values that we want. Making a constructor is almost identical
to defining a function that takes a bunch of parameters (i.e., one for each of the data
structure’s instance variables) and then uses these parameters to set the instance variables.

A constructor must be written within the data structure’s class definition as shown on the next
page. You will notice that the constructor’s name is identical to the class name (always
starting with an uppercase letter). Also, notice in this case, how there is one parameter for
each of the 5 instance variables. The types of the parameters must match the types of the
instance variables. The names of the parameters (i.e., pl, p2, p3, p4 and p5) are arbitrary,
but they must be unique from one another and SHOULD NOT be the same as any instance
variable names.
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public class Ball {
i nt X;
i nt y;
fl oat direction;
fl oat speed;
i nt radi us;

/1 This is a constructor
public Ball(int pl, int p2, float p3, float p4, int p5) {

x = pl;

y = p2;
direction = p3;
speed = p4;
radi us = pb5;

}

The code for the body of the constructor is simple. It simply sets each instance variable to
have the value of its corresponding parameter.

So what does this all mean ? It means that once we define this constructor, we can then call
the constructor with the parameter values that we want to have set in the instance variables.
So our previous 6 lines of code shrinks down to this:

Ball b = new Ball (100, 100, (float)(Mth.random()*2*Math.Pl), 15, 20);

Notice, it is as if we are simply calling a function that will set all the attribute values. The code
inside the constructor just takes the 5 values that we pass in and assigns them to each of the
instance variables. So, we actually have the same amount of code ... but the code has been
moved into (i.e., hidden inside) the constructor. The real advantage becomes evident when
we create multiple balls. Here is what | mean. Consider the code for making an array of
three Ball objects both with and without the use of a constructor:

Bal I [] balls = new Bal I [ 3];
balls[0] = new Ball ();

bal I s[0].x = 100;

balIs[0].y = 100;

bal Il s[0].direction = (float)(Math.random()*2*Math. Pl);
bal | s[ 0] . speed = 15;
bal I s[0].radius = 20;

ball s[1] = new Ball ();

bal I s[ 1] . x = 400;

bal I s[1] .y = 300;

balls[1].direction = (float)(Math.random)*2*Math. Pl);
bal I s[ 1] . speed = 10;

bal I s[ 1] . radi us = 30;

balls[2] = new Ball ();
bal I s[2].x = 600;

balls[2].y = 400;

balls[2].direction = (float)(Math.random()*2*Math. Pl);
bal | s[ 2] . speed = b5;

bal I s[ 2] . radi us = 50;
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With the constructor:

Bal I [] balls = new Bal I [ 3];

bal Il s[0] = new Ball (100, 100, (float)(Math.randon()*2*Math.Pl), 15, 20);
bal I s[1] = new Bal | (400, 300, (float)(Math.randon()*2*Math.Pl), 10, 30);
balls[2] = new Ball (600, 400, (float)(Mth.randon()*2*Math.Pl), 5, 50);

Notice the significant reduction of code.

We can reduce this code even further by noticing some duplication in the code. Do you
understand though, why the following is NOT a solution to reduce the code ?

Bal | [] balls = new Bal I [ 3];

fl oat dir = (float)(Mth. random()*2*Math. PI);
bal I s[0] = new Ball (100, 100, dir, 15, 20);
bal I s[1] = new Bal | (400, 300, dir, 10, 30);
ball s[2] = new Ball (600, 400, dir, 5, 50);

The code above will give all balls the same direction :(. A proper way to reduce the code is to
create another constructor. JAVA allows you to actually define multiple constructors, provided
that they have different parameters. A second constructor would be written below the first
one. For example, consider this:

public class Ball {
i nt X;
i nt y;
fl oat direction;
fl oat speed;
i nt radi us;

/1 This is a constructor
public Ball(int pl, int p2, float p3, float p4, int p5) {

x = pl;

y = p2;
direction = p3;
speed = p4;
radi us = pb5;

}

/1 This is another constructor
public Ball(int pl, int p2, float p3, int p4) {

X = pl;

y = p2;

direction = (float)(Math.random()*2*Mat h. Pl);
speed = p3;

radi us = p4;

}

Notice the second constructor. It takes 4 parameters now. There is no parameter for the
direction attribute. Instead, the direction is calculated each time the constructor is called, as
it is hard-coded within the constructor itself.
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So, notice how we would use this constructor now:

Bal I [] balls = new Bal I [ 3];

bal I s[0] = new Ball (100, 100, 15, 20);
bal I s[1] = new Ball (400, 300, 10, 30);
bal Il s[2] = new Ball (600, 400, 5, 50);

That sure looks simple, doesn’'tit ? The only thing that we would need to remember is what
all the numbers mean. We need to remember that the order of the parameters is x, y, speed,
radius.

In fact, if we wanted all balls to begin at the same speed and of the same size, we could do the
following:

Bal I [] balls = new Bal I [ 3];

bal I s[0] = new Ball (100, 100, 10, 30);
bal I s[1] = new Ball (400, 300, 10, 30);
bal I s[2] = new Ball (600, 400, 10, 30);

But this causes us to duplicate data again. Instead, we could define another constructor:

// This is a 39 constructor
public Ball(int pl, int p2) {

x = pl;

y = p2;

direction = (float)(Math.randonm()*2*Mat h. Pl );
speed = 10;

radi us = 30;

}

Now all balls created with this constructor will have a speed of 10 and radius of 30 ... so our
code becomes reduced now as follows:

Bal I [] balls = new Bal I [3];
bal | s[ 0]

bal I s[ 1]
bal I s[ 2]

new Bal | (100, 100);
new Bal | (400, 300);
new Bal | (600, 400);

By looking solely at this code, however, we do not know the default direction, speed and
radius. We would have to go look at the constructor code to determine that. We could then
add a nice comment in the code:

/1l Create 3 balls, each with a speed of 10, radius of 30 and random direction

Bal I [] balls = new Bal I [ 3];

bal Il s[0] = new Ball (100, 100);
bal I s[1] = new Bal | (400, 300);
ball s[2] = new Bal | (600, 400);
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It is a good idea to create a variety of constructors This would be
analogous to the situation in real life where someone fills out a
form but leaves some information blank. When information has
been left out, we must decide what values to use ... so we need to
choose some kind of “default” values for the blank parts (i.e.,
make some assumptions by filling in something appropriate).

It is also good to make a default constructor (i.e., one that has
no parameters). That way, we can make an object without
needing to supply any parameters ... since we might not know
what we want. We will need to decide upon the default/initial values for ALL of the instance
variables. Here we make random speeds and sizes as well but all balls will start at (100,100):

/1 This is a zero-paranmeter constructor
public Ball () {

x = 100;
y = 100;
directio (float) (Math. random()*2*Mat h. Pl);

n =
speed = 5 + (int)(Mth.random()*20);
radius = 5 + (int)(Math.randon()*20);
}

We can test it easily:

/1 Create 3 balls, each with a |ocation of (100, 100),
/'l speed between 5 and 24, radius between 5 and 24

/1 and random direction

Bal I [] balls = new Bal I [ 3];

bal I s[0] = new Bal | ();
bal Is[1] = new Ball ();
ball s[2] = new Ball ();

We could even use a loop to fill up the array with a lot of random balls quite easily:

/'l Create 100 balls, each with a |ocation of (100, 100),
/'l speed between 5 and 24, radius between 5 and 24

/1 and random direction

Bal I [] balls = new Bal I [ 100];

for (int i=0; i<100; i++)
balls[i] = new Ball ();

Remember, though, that the constructors are only used to assign initial values to the objects.
We can change the values at any time:

Bal I [] balls = new Bal | [ 100];

for (int i=0; i<100; i++) {
balls[i] = new Ball ();
bal I's[i].x 50 + (int)(Math.randonm() * 500);
balIs[i].y 50 + (int)(Math.randonm() * 400);
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The saving in code space can be much more noticeable when multiple kinds of objects are
used together. For example, consider creating constructors for Name, Address and
BankAccount objects as follows:

public class Nanme {
String firstNanme, m ddl eNane, |ast Nane;

public Name(String pl, String p2, String p3) {
firstName = pi;
nm ddl eNane = p2;
| ast Name = p3;

}
}
public class Address {
Name name;
i nt street Nunber ;
String streetNanme, city, province, postal Code;

public Address(Name pl, String p2, String p3, String p4, String p5, String p6){
name = pl;
st reet Number = p2;
street Nane = p3;
city = p4;
provi nce = p5;
post al Code = p6;

public class BankAccount {
Addr ess owner;
i nt account Nunber ;
fl oat bal ance;

publ i c BankAccount (Address pl, int p2, float p3) {
owner = pl;
account Nunber = p2;
bal ance = p3;

Once we make such definitions, notice the significant simplification in code:
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BankAccount b;

Addr ess a;

Ful | Nane n;

n = new Name();
n.firstName = "Patty"
n. m ddl eNanme = "Q. "
n.l ast Name = "Lantern"

= new Address();
. hame = n;
. street Nunber = "187"
.streetName = "Cak St."
.City = "Otawa"
. province = "ON'
. post al Code = "K6S8P2"

AU SV L S O )

= new BankAccount ();
.owner = a;
.account Number = 829302
. bal ance = 2319. 67f

O OTUTCT

BankAccount b;

Addr ess a;

Name n;

n = new Name("Patty", "O ", "Lantern");

a = new Address(n, "187", "Cak St.", "Otawa", "ON', "K6S8P2");
b = new BankAccount (a, 829302, 2319.67f);

So, constructors can be a significant factor in keeping your code simple. We will discuss
constructors in more detail in COMP1406.

7.4 Static/Class Variables

Recall that an instance variable stores an attribute of a particular object. You should now
know that an object can have many attributes, and thus many instance variables. The values
of the instance variables will vary from object to object.

For example, all Car objects may have a color attribute, but the color of different cars will likely
be different:

- 234 -



COMP1405 — Data Structures and Objects Fall 2015

myCar yourCar bobsCar

’ ’ h d
LI —

color | color | color |

"Green" "Red" "Blue"

In some situations, however, there may be an attribute for an object in which the value does
not differ between objects of that class. That is, each object that we make of that type would
have the same value for that particular attribute. For example, all Car objects may have 4
wheels. We could define an instance variable for that attribute (e.g., numWheels) and simply
set all the values to 4 in the constructor as follows ...

public class Car {
String col or;
i nt numiheel s;

public Car() {
color = "";
nunmiheel s = 4;

}

myCar yourCar bobsCar

) d * *
LA T —

numWheeIsl 4 numWheels | 4 numWheeIs| 4
color | color | color |

"Green" "Red" "Blue"
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Thus, if we were to access this numWheels variable for any of our cars, we would get the
value 4:

Car nyCar, yourCar, bobsCar;

nyCar = new Car();
your Car = new Car();
bobsCar = new Car();

System out. printl n(myCar. numhheel s); /1 displays 4
System out. pri ntl n(your Car. numheel s); /1 displays 4
System out. printl n(bobsCar. numiheel s); /1 displays 4

This strategy works fine and correctly stores the proper number of wheels for each Car that we
make. However, think about the duplication involved.

Every Car object that we create will store the number 4 inside of it. This takes up
space in the computer's memory. It is wasteful to have the same value stored over and over
again when we know already that the value is the same for all cars.

the Car class

Duplicated!
(wasted space)

numWheels

color
numWheels

color

For situations like this ... in which all instances of a class (i.e., all objects created of one type)
will share the same attribute value, you should create what is called a class variable (also
known as static variable). Class variables are "a little like" instance variables in that you can
access them as part of your object. However, they are actually stored in one location in
memory and all objects share that location.

In this example, we could create a class variable called NUM_WHEELS to store the value 4.
(Although it is not necessary, class variables names are often chosen as uppercase characters
with an underscore character _ separating the words).
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To create a class variable, we write it at the top of our class definition (usually before the
instance variables) and put the word static in front of it as follows:

public class Car {
static int NUM VWHEELS = 4; /1 a class variable (static)

String col or; /1 an instance variable (not static)

public Car() {
color = "";
}

Normally, for static variables, we supply an initial value for it when we create it. In this case,

we assign it the value of 4 as needed. Here is a diagram showing how the storage has now

changed ...
the Car class

Better Now!
(no wasted space)

Notice that the number 4 is now stored in only one location ... it is not duplicated every time
that a Car object is created. We can also perhaps imagine creating classes to store other
kinds of vehicles in which we declare a similar NUM_WHEELS variable as follows:

public class Mtorcycle {

static int NUM WHEELS = 2;
/1

}

public class Unicycle {
static int NUM WHEELS = 1;
I

}

public class Boat ({
static int NUM WHEELS = O0;

/1
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The NUM_WHEELS variable is a variable just like any other. We can access it at any time
and change its value. You can access static/class variables anywhere in your program by
preceding them by the class name that they are defined in, followed by the dot . operator. The
following code would produce the values 4,2, 1,0and 6 ...

Systemout.println("A car has " + Car. NUM WHEELS + " wheel s");
Systemout.println("A notorcycle has " + Mtorcycle. NUM WHEELS + " wheel s");
Systemout.println("A unicycle has " + Unicycle. NUM WHEELS + " wheel s");
Systemout.println("A boat has " + Boat.NUM WHEELS + " wheel s");

Car. NUM WHEELS = 6;
Systemout.println("A car now has " + Car. NUM WHEELS + " wheel s");

With regards to the NUM_WHEELS static/class variable that we defined above, it is likely that
we would never change the value from 4 to 6 in a real system. Likely, the NUM_WHEELS
variable should remain constant. In this case, we use the term static constant (or class
constant) instead of static variable ... since its value will never vary but instead remain the
same over time. In JAVA, whenever we want to prevent a value from being changed (i.e., to
make it a constant), we use the final keyword when we declare the variable as follows:

public class Car {
static final int NUM WHEELS = 4; // a static(class) constant

After we do this, we are no longer allowed to change the value of this variable in our program:

Car. NUM WHEELS = 6; @

Static/class variables are sometimes used to store a commonly accessed value that is shared
between many objects, such as a global counter. For example, consider a BankAccount
object, where each account is assigned a unique accountNumber. When creating a new
BankAccount, it is unlikely in real life that we would be able to specify the accountNumber.
Usually, these are assigned automatically to the customer. What accountNumber should a
new BankAccount receive? It's up to us to decide (In real life however, the bank that is hiring
you to write their program would specify their account numbering strategy).

Let us assume that the first created account is assigned the account number 100001, the
second gets 100002, the third 100003 and so on. In this scenario, we can simply keep a
counter that starts at 100001 and increases each time a new account is created.

To do this, we can create a class variable in the BankAccount class to represent this
counter. We can call it LAST_ACCOUNT_NUMBER which will store the account number that
was last given out. We can give this variable an initial value of 100000 as follows ...
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public class BankAccount {
static int LAST_ACCOUNT_NUMBER = 100000;

i nt account Nunber ; /1 instance vari abl e
String owner ; /1 instance variable
fl oat bal ance; // instance variable

11

Then, when a new BankAccount is created, we can give it an accountNumber which is one
more than the LAST_ACCOUNT_NUMBER and then increment this counter to get it ready for
the next time. This counter of ours will work exactly like one of those ticket dispensers when
you wait in line at a store.

This can be done by adjusting all of the BankAccount constructors so that they do not allow
the user to "specify” the accountNumber. But rather set it to the next available number and
then increment the counter. Here is the code that we would need to write:

public class BankAccount {
static int LAST_ACCOUNT_NUMBER = 100000;

i nt account Nunber ;
String owner ;
fl oat bal ance;

/1 This is the 0-paraneter constructor

publ i c BankAccount () ({
owner = "";
LAST_ACCOUNT_NUMBER = LAST_ACCOUNT_NUMBER + 1;
account Nunber = LAST_ACCOUNT_NUMBER

bal ance = 0;

}

/1 This is a 2-paraneter constructor
public BankAccount(String n, float b) {
owner = n;
LAST_ACCOUNT_NUMBER = LAST_ACCOUNT_NUMBER + 1;
account Nunber = LAST_ACCOUNT_NUMBER
bal ance = b;

...

Here is some testing code:
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public class BankAccount Test Program {
public static void main(String args[]) {
BankAccount b, m j;

b
m

j

new BankAccount (" Bob", 250.00f);
new BankAccount (" Mary", 6387.27f);
new BankAccount ("Jay", 915.45f);

System out . printl n(b. account Nunber);
System out. printl n(m account Nunber);
System out. println(j.accountNunber);

The account numbers printed will be 100001, 100002 and 100003.

7.5 Displaying Objects

Do you know what happens when we display one of our objects to the System console ?

public class MyObj ect sTest Program {
public static void main(String args[]) {
System out . printl n(new Nane());
System out. println(new Address());
System out. println(new Applicant());
Systemout.println(new Ball());

The result on the screen would be something like this:

Nane@b4766

Addr ess@7601e
Appl i cant @2345a0
Bal | @79a711

JAVA displays all of the objects that you make in this manner. The numbers and letters after
the @ symbol will vary from program to program, as they are values that refer to the storage
location of the object. JAVA happens to be converting our objects to String objects first and
then displaying the resulting characters to the screen. In fact, every object in JAVA has, by
default, a method called toString() which will convert the object to a String. Hence, the
following code will take a Address and a Ball object, convert them to String objects and then
display the resulting String objects:
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Addr ess a; €

Bal | b;

String sl, s2; *
a = new Address();

b = new Ball (); 7
sl = a.toString(); /1 s1 will be "Address@7601e" —\

s2 = b.toString(); /1 s2 will be "Ball @79a711"

Systemout.println("The Address as a String is " + sl);
Systemout.println("The Ball as a String is " + s2);

Notice that the output will be:

The Address as a String is Address@7601e
The Ball as a String is Ball @79a711

The String objects have the exact same characters that are displayed when we just display
the objects directly using System.out.printin(). That is because when JAVA attempts to
display anything to the console, it automatically calls the toString() method for the object to
convert it to characters before displaying. So, the following two lines of code do exactly the
same thing:

System out . println(b);
Systemout.println(b.toString());

Why do we care ? Well, we can actually replace the default toString() behavior by writing our
own toString() method for all of our own objects that defines exactly how to convert our object
to a String. That is, we can control the way our object “looks” when we print it on the screen.

Consider the following Person class definition:

public class Person {
public String nane;

public int age;
public fl oat hei ght ;
public char gender ;

public boolean retired;

}

Suppose that we wanted our Person object to display something like this:

Per son named Bob

You should notice that the first two words of this String will not change but the last part will vary
from person to person. We can make this to be the standard output format for all Person
objects simply by writing the following toString() method in the Person class:
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public class Person {
public String nane;

public int age;
public fl oat hei ght ;
public char gender
public boolean retired;
public Person(String pl, int p2, float p3, char p4, boolean p5) {
name = pl;
age = pz2;
hei ght = p3;
gender = p4;
retired = p5;

}

public String toString() {
return ("Person naned " + nane);
}

}

Notice that the method is called toString() with no parameters and that it has a return type of
String. This is important in order for the method to be used properly by JAVA. Even the
spelling and upper/lower case letters must match exactly. Then, you may notice that the
method returns an actual String object that is made up of the letters "Person named " and
then followed by the value of this Person object’'s name attribute. What would therefore be
the output of the following code ? ...

Per son pl, p2, pS3;

pl = new Person(); /1 assunme name is set to "" within constructor
p2 = new Person("Holly Day", 15, 5.6. 'F', false);
p3 = new Person("Hank Urchiff", 89, 5.4, "M, true);

System out. println(pl);
System out. println(p2);
System out. println(p3);

Here is the output ... were you correct ?

Per son naned
Person nanmed Hol |y Day
Person naned Hank Urchiff

Now what if we wanted the output to be in this format instead:

19 year old Person naned Hank Urchif
To write an appropriate toString() method, we need to understand what is fixed in this output

and what will vary. The number 19 should vary for each person as well as the name. Here is
how we could write the code (replacing our previous toString() method):
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public String toString() {
return (age + " year old Person naned " + nane);
}

Notice that the basic idea behind creating a toString() method is to simply keep joining
together String pieces to form the resulting String.

Now here is a harder one. Let's see if we can make it into this format:

19 year old non-retired person naned Hank Urchif

Here we have the age and names being variable again but now we also have the added
variance of their retirement status and gender. Here is one attempt:

public String toString() {
return (age + " year old " + retired + " person naned " + nane);
}

However, this is not quite correct. This would be the format we would end up with:

19 year old fal se person nanmed Hank Urchif

Notice that we cannot simply display the value of the retired attribute but instead need to write
“retired” or “non-retired” for the retired status.

To do this then, we will need to use an IF statement. However, in JAVA, we cannot write an IF
statement in the middle of a return statement. So we will need to do this using more than one
line of code.

Let's make an answer variable to hold the result and then break down our method into logical
pieces that append to this answer:

public String toString() {

String answer ;

answer = age + " year old "

answer = answer + retired;

answer = answer + " person named " + name);

return answer;

Now we can insert the appropriate IF statements as follows:
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public String toString() {
String answer ;

answer = age + " year old ";

if (retired)

answer = answer + "retired";
el se

answer = answer + "non-retired";
answer = answer + " person naned " + nane;

return answer;

The result is what we wanted. Note however, that we can simplify this code a little further:

public String toString() {
String answer = age + " year old ";

if ('retired)
answer = answer + "non-";

return (answer + "retired person naned " + nane);

So, you can see that the toString() method may be more than one line of code but again ...
the main idea is to simply keep appending to the String as you go ... building it up.

7.6 Team/League Example

Let's consider a larger example in which we create classes called
Team and League ... where a League object will contain a bunch of
Team objects. That is, the League object will have an instance
variable which is an array of multiple Team objects within the league.

Consider first the creation of a Team class that will represent a single
team in the league. For each team, we will maintain the team’s name
as well as the number of wins, losses and ties for the games that
they played. Here is the basic class with attributes, a constructor
and a toString() method:
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public class Team {

String nane; /1 The name of the Team

i nt W ns; /1 The nunber of ganes that the Team won

i nt | osses; /1 The nunber of ganes that the Team | ost
i nt ties; /1 The nunber of ganes that the Teamtied

public Team(String aNane) ({
name = aNane;

wns = 0;
| osses = 0;
ties = 0;
}
public String toString() {
return("The " + nane + " have " + wins + " wins, " +
|osses + " |losses and " + ties + " ties.");
}

We can test out our Team object with the following test code, just to make sure it works:

public class Teanilest Program {

public static int total Points(Teamt) {
return (t.wins * 2 + t.ties);
}

public static int ganesPlayed(Teamt) {
return (t.wins + t.losses + t.ties);
}

public static void main(String args[]) {
Team teamd, teanB;

teamA = new Team(" Ot awa Senators");
teanB = new Team( " Montreal Canadi ans");

/1 Simulate the playing of a ganme in which teamA beats teanB
Systemout. println(teamA name + " just beat + t eanB. nane) ;
t eamA. Wi ns++;

t eanB. | osses++;

/1 Simulate the playing of another gane in which they tied
Systemout.println(teamA name + " just tied + t eanB. nane) ;
teamA ti es++;

teanB. ti es++;

/1 Now print out sone statistics

System out . println(team);

System out . println(teanB);

Systemout.print("The " + teamA name + " have ");

Systemout. print(total Points(teamd) + " points and played ");
System out. printl n(ganesPl ayed(teamd) + " ganes.");
Systemout.print("The " + teanB.name + " have ");
Systemout.print(total Points(teanB) + " points and played ");
System out. printl n(ganmesPl ayed(teanB) + " ganes.");
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Here is what the Team objects look like after playing the two games:

_
“Ottawa Senators” “Montreal Canadians”
teamA teamB
*—— *——
name name
wins wins

0
losses | 0 losses | 1
ties | 1 ties | 1

Here is the output from our little test program:

O tawa Senators just beat Montreal Canadi ans

Otawa Senators just tied Montreal Canadi ans

The Otawa Senators have 1 wins, O |osses and 1 ties.
The Montreal Canadi ans have 0 wins, 1 losses and 1 ties.
The Otawa Senators have 3 points and played 2 ganes.
The Montreal Canadi ans have 1 points and played 2 ganes.

Now let's implement the League class. A league will also have a name as well as an array
(called teams) of Team objects. Here is the basic class structure:

public class League {
String nane;
Tean{] teans;

public League(String n) {
name = n;
teans = new Tean|{8]; // Doesn’t nake any Team objects

}

/1 This specifies the appearance of the League
public String toString() {

return ("The " + nanme + " |eague");
}

Notice that the array is created within the constructor and that it is initially empty. That means,
a brand new league has no teams in it, but currently has the capacity to store 8 teams in total.
It is important to note also that there are no Team objects created at this time. That is, we just
reserved space for 8 pointers/references to Team objects that will be created later.
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At this point, we have defined two objects: Team and League. One thing that we will need to
do is to be able to add teams to the league. Here is an example of how we can create a
league with three teams in it:

League nhl;

nhl = new League("NHL");

nhl .t eans[ 0] new Tean(" Ot awa Senators");

nhl .t eans[ 1] new Tean("Montreal Canadians");
nhl . t eans[ 2] new Tean{"Toronto Maple Leafs");

Here is a diagram showing how the League object stores the 3 Teams ...

A
nhl wins IT
, losses IT
ties IT
name A
teams Ii name IT’-
wins IT
losses IT
ties IT
- 4
?lhl.teanlw Arraj name IT_>-
wins IT
losses IT
ties IT

Suppose now that we wanted to print out the teams in the league. Let's write a static method
to do this. The method will need to go through each team in the teams array and display the
particular team’s information ... perhaps using the toString() method from the Team class.

Hopefully, you “sense” that printing out all the teams involves repeating some code over and
over again. That is, you should realize that we need a loop of some type.
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public static void displayTeans(League alLeague) {
for (int i=0; i<alLeague.teans.|length; i++)
System out . printl n(aLeague.teans[i]);

Let us test our method out using the following test program:

public class LeagueTest Program {

/1 Displays a | eague's teans to the system consol e
public static void displayTeans(League alLeague) {
for (int i=0; i<alLeague.teans.length; i++)

System out. printl n(aLeague.teans[i]);

}

public static void main(String args[]) {
League nhl;

nhl = new League("NHL");

//Add a pile of teans to the |eague

nhl . t eans[ 0] new Teanm("Cttawa Senators");

nhl .t eans[ 1] new Tean("Montreal Canadi ans");
nhl . t eans|[ 2] new Tean{"Toronto Maple Leafs");
nhl .t eans[ 3] new Tean{"Vancouver Canucks");
nhl . t eans|[ 4] new Tean("Edmonton O lers");

nhl . t eanms[ 5] new Tean{"Washi ngt on Capitals");
nhl .t eans[ 6] new Tean("New Jersey Devils");
nhl . teans[ 7] new Tean("Detroit Red Wngs");

/1 Di splay the teans
Systemout.printin("\nHere are the teans:");
di spl ayTeans(nhl);

BEENE

-

F

m
-

=
g

Here is the output so far:

Here are the teans:

The Otawa Senators have 0 wins, O |osses and O ties.
The Montreal Canadi ans have 0 wins, O | osses and O ties.
The Toronto Maple Leafs have O wins, O |osses and O ties.
The Vancouver Canucks have O wins, O |osses and O ties.
The Ednonton GO lers have O wins, O |osses and O ties.
The Washington Capitals have 0 wins, O |osses and O ties.
The New Jersey Devils have 0 wins, O |osses and O ties.
The Detroit Red Wngs have 0 wins, O |osses and O ties.

Notice that all the teams have no recorded wins, losses or ties. Let's write a method that will
record a win and a loss for two teams that play together, and another method to record a tie

when the two teams play and tie.
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public static void recordWnAndLoss(Team wi nner, Team | oser) {
Wi nner. w ns++;
| oser.| osses++;

}

public static void recordTi e(TeamteanmA, TeamteanB) { PLAYER  FOUL
t eamA. ti es++; b o P
teanB.ti es++; MATCH

}

If we wanted to test these methods now, we could write test code like this:

League nhl ;

nhl = new League("NHL");

nhl . t eans[ 0] new Teanm("COttawa Senators"));

nhl . t eams[ 1] new Tean("Montreal Canadi ans"));
nhl . t eans|[ 2] new Tean("Toronto Maple Leafs"));

.ré;:ordeAndLoss(nhI .teans[ 0], nhl.teams[1]);
recordTi e(nhl.teans[ 0], nhl.teans[1]);
recor dW nAndLoss(nhl .teanms[ 2], nhl.teans[1]);

You should now notice something tedious. We would have to remember the location of each
team in the array if we want to record wins, losses and ties among them. Why ? Because the
recording methods require Team objects ... the same Team objects that we added to the
League. Perhaps a better way to record wins, losses and ties would be to do something like
this:

League nhl ;

nhl = new League("NHL");

nhl .t eans[ 0] new Tean("COttawa Senators"));

nhl .teans[ 1] = new Teanm("Montreal Canadians"));
nhl .teans[ 2] = new Team("Toronto Maple Leafs"));

recordW nAndLoss(nhl, "Ottawa Senators", "Mntreal Canadi ans");
recordTie(nhl, "Otawa Senators", "Mntreal Canadi ans");
recor dW nAndLoss(nhl, "Toronto Maple Leafs", "Mntreal Canadians");

However, we would have to make new recording methods that took Strings (i.e., the Team
names) as parameters instead of Team objects. A League object is also required as a
parameter because it contains the teams that we need to access and modify. Here are the
methods that we would need to implement (notice the difference in the parameter types):
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public static void recordW nAndLoss(League alLeague, String nameW String nanel) {

}

public static void recordTi e(League alLeague, String naneA, String nameB) ({

}

To make this work, however, we still need to get into the appropriate Team objects and update
their wins/losses/ties. Therefore, we will have to take the incoming team names and find the
Team objects that correspond with those names. We would need to do this 4 times: once for
nameW, once for nameL, once for nameA and once for nameB. Rather than repeat the
code 4 times, we will make a method to do this particular sub-task of finding a team with a
given name. Here is the method that we will write:

public static Teamteam/N t hNane(League aleague, String naneTolLookFor) {
Team answer ;

return answer;

Notice that it will take the team’s name as a parameter and then return a Team object. How
would we complete this method ? We can use a for loop to traverse through all the teams
and find the one with that name as follows:

public static TeamteamW't hNane(League alLeague, String naneTolLookFor) {
Team answer = null;

for (int i=0; i<alLeague.teans.length; i++) {
i f (aLeague.teans[i].nane. equal s(naneToLookFor))
answer = aleague.teans[i];

}

return answer;

Notice a few points. First, we set the answer to null. If we do not find a Team with the given
name, the method returns null ... which is the only appropriate answer. Next, notice that for
each team, we compare its name with the incoming string nameToLookFor and if these two
strings are equal, then we have found the Team object that we want, so we store it in the
answer variable to be returned at the completion of the loop.

This method can be shortened as follows:
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public static Teamteam/ t hNane(League aleague, String naneTolLookFor) {
for (int i=0; i<alLeague.teans.length; i++) {
i f (aLeague.teans[i].nane.equal s(nameToLookFor))
return alLeague.teans[i];

}

return null;

Now that this method has been created, we can use it in our methods for recording wins/losses
and ties as follows:

public static void recordWnAndLoss(League alLeague, String nameW String nanel) {
Team wi nner, | oser;

wi nner = teanWthNane(alLeague, nameW;
| oser = teanWthNane(alLeague, namelL);
W nner.wi ns++;

| oser.| osses++;

public static void recordTi e(League alLeague, String naneA, String nameB) ({
Team teamh, teanB;

teamA = teamN t hNane(alLeague, naneA);
teanB = teanWt hNane(alLeague, naneB);
teamA. ti es++;
teanB. ti es++;

The methods work as before, but there are potential problems. What if we
cannot find the Team object with the given names (e.g., someone spelt the name
wrong) ?

In this case, perhaps winner, loser, teamA or teamB will be null and we will get
a NullPointerException when we try to access the team’s attributes. We can
check for this with an IF statement as follows:

public static void recordW nAndLoss(League alLeague, String nameW String nanel) {
Team wi nner, | oser;

wi nner = teamt hNane(alLeague, nameW;

| oser = tean't hNane(alLeague, namel);

if ((wnner !'= null) &% (loser !'=null)) {
Wi nner. W ns++;
| oser.| osses++;
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public static void recordTi e(League alLeague, String naneA, String nameB) ({

Team teamA, teanB;
teamA = teamN t hNane(alLeague, naneA);
teanB = teanWt hNane(alLeague, naneB);

if ((teamA !'= null) && (teanB !'= null)) {
teamA. ti es++;
teanB. ti es++;

Now the games are only recorded when we have successfully identified the two Team objects
that need to be updated as a result of the played game. Interestingly though, the same
problem may occur in our previous recording methods ... that is ... the Team objects passed in
may be null. Also, in our code, we already have a method for recording the wins/losses/ties
in the case where we have the Team objects, so we should call those methods from here.

We can simply call the previous recording methods from these two new ones and move the
null-checking in there instead as follows:

public static TeamteamiN t hName(League alLeague,

for (int i=0; i<alLeague.teans.length; i++) {

i f (aLeague.teans[i].nane.equal s(nameToLookFor))
return alLeague.teans[i];

String naneToLookFor) {

}

return null;

public static void recordW nAndLoss(Team wi nner,
if ((wnner '= null) & (loser !'=null)) {
Wi nner. W ns++;
| oser.| osses++;

Team | oser) {

}
}
public static void recordTi e(Teamteamd, TeamteanB) {
if ((teamA I'= null) && (teanB !'= null)) {
teamA ti es++;
teanB. ti es++;

}

public static void recordW nAndLoss(League alLeague,
Team wi nner, | oser;

wi nner = teamAt hNane(alLeague, nameW;
| oser = tean't hNane(alLeague, namel);
recor dW nAndLoss(wi nner, | oser);

public static void recordTi e(League alLeague,

Team teamh, teanB;
teamA = teanmNt hNane(alLeague, naneA);
teanB = teanWt hNane(alLeague, naneB);

recordTi e(teamh, teanB);

String naneW String namel) {

String naneA, String nameB) ({
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In fact, we can even shorten the last two methods by noticing that the variables are not really
necessary:

public static void recordW nAndLoss(League alLeague, String nameW String nanelL) {
recor dW nAndLoss(t eamW t hNane(aLeague, nanmeW, teanWWthNane(alLeague, nanel));
}

public static void recordTi e(League alLeague, String naneA, String nameB) ({
recordTi e(t eanW t hNane(alLeague, naneA), teanmWthNane(alLeague, naneB));
}

Consider a method called totalGamesPlayed() which is supposed to return the total number
of games played in the league. All we need to do is count the number of games played by all
the teams (i.e., we will need some kind of counter) and then divide by 2 (since each game was
played by two teams, hence counted twice). Here is the format:

public static int total GanesPl ayed(League alLeague) {
int total = O;

return total/?2;

We will also need a FOR loop to go through each team:

public static int total GanesPl ayed(League alLeague) {
int total = O;
for (int i=0; i<alLeague.teans.length; i++) {

}

return total/2;

To determine the answer, we can ask each team how many games they played by adding up
their wins, losses and ties. So we can use this method that we wrote earlier:

public static int ganmesPl ayed(Teamt) {
return (t.wins + t.losses + t.ties);
}

Here is how to use it:
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public static int total GanesPl ayed(League alLeague) {
int total = O;

for (int i=0; i<alLeague.teans.|length; i++)
total += ganesPl ayed(alLeague.teans[i]);

return total/2; // Divide by two since a gane is counted by both teans

Notice that the method is quite simple, as long as you break it down into simple steps like we
just did. For more practice, let's find the team that is in first place (i.e., the Team object that
has the most points).

We can make use of this method that we wrote earlier:

public static int total Points(Teamt) {
return (t.wins * 2 + t.ties);
}

Let's start again as follows:

public static Team firstPl aceTeanm League aleague) ({
Team teanWthMstPoints = null;

for (int i=0; i<alLeague.teans.length; i++) {

}
return teanmWthMost Points;

Notice that it returns a Team object. Now, we can make use of our totalPoints() method
which returns the number of points for a particular team:

public static Team firstPlaceTeanm League alLeague) ({
Team t eamW t hMost Points = nul | ;

for (int i=0; i<alLeague.teans.length; i++) {
int points = total Points(alLeague.teans[i]);
}

return teanmWthMost Points;

But now what do we do ? The current code will simply grab each team’s point values one at
atime. We need to somehow compare them. Many students have trouble breaking this
problem down into simple steps. The natural tendency is to say to yourself “I will compare the
1% team’s points with the 2" team’s points and see which is greater”. If we do this however,
then what do we do with that answer ? How does the third team come into the picture ?
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Hopefully, after some thinking, you would realize that as we traverse through the teams, we
need to keep track of (i.e., remember) the best one so far.

Imagine for example, searching through a basket of apples to find the best one.
Would you not grab an apple and hold it in your hand and then look through the
other apples and compare them with the one you are holding in your hand ?

If you found a better one, you would simply trade the one currently in your hand
with the new better one. By the time you reach the end of the basket, you are
holding the best apple.

Well we are going to do the same thing. The teamWithMostPoints variable

will be like our good apple that we are holding. Whenever we find a team that is better
(i.e., more points) than this one, then that one becomes the teamWithMostPoints. Here is
the code:

public static Team firstPlaceTeanm League alLeague) {
Team t eamW t hMbst Points = nul | ;

for (int i=0; i<alLeague.teans.length; i++) {
if (total Points(alLeague.teans[i]) > total Points(teamA thMstPoints))
t eamW t hMbst Poi nts = aleague.teans[i];

}
return teamW t hMst Points;

Does it make sense ? There is one small issue though. Just like we need to begin our apple
checking by picking up a first apple, we also need to pick a team (any Team object) to be the
“best” one before we start the search. Currently the teamWithMostPoints starts off at null so
we need to set this to a valid Team so start off. We can perhaps take the first Team in the
teams array:

public static Team firstPl aceTeam League aleague) ({
Team t eamN t hMbst Poi nts = teans[0];

for (int i=0; i<alLeague.teans.length; i++) {
if (total Points(alLeague.teans[i]) > total Points(teamA thMstPoints))
t eamN t hMbst Poi nts = aleague.teans[i];

}
return teanmWthMost Points;

We are not done yet! Itis possible, in a weird scenario, that there are no teams in the league!
In this case teams[0] will return null and we will get a NullPointerException again when we
go to ask for the totalPoints(). So, we would need to add a special case to return null if the
teams list is empty. Here is the new code ...
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public static Team firstPl aceTeam League aleague) ({
Team t eamN t hMbst Poi nts = aleague. t eans[ 0] ;

i f (aLeague.teans[0] == null)
return null;

for (int i=0; i<alLeague.teans.length; i++) {
if (total Points(alLeague.teans[i]) > total Points(teamN thMstPoints))
t eamW t hMbst Poi nts = aleague.teans[i];

}
return teamW t hMst Points;

What would we change in the above code if we wanted to write a method called
lastPlaceTeam() that returned the team with the least number of points ? Try to do it.

For the purpose of a summary, here is the entire League class as we have defined it:

public class LeagueTest Program {

/1 Determ ne the nunber of ganes played by the given team
public static int gamesPlayed(Teamt) {

return (t.wins + t.losses + t.ties);
}

/1 Determne the nunber of points that the given team has
public static int total Points(Teamt) {

return (t.wins * 2 + t.ties);
}

/1 Displays a | eague's teans to the system consol e
public static void displayTeans(League alLeague) {
for (int i=0; i<alLeague.teans.|length; i++)
System out. printl n(aLeague.teans[i]);

}

/1 Record a win and a | oss between the given Teans
public static void recordW nAndLoss(Team wi nner, Team | oser) {
if ((wnner !'= null) &% (loser !'=null)) {
Wi nner. W ns++;
| oser.| osses++;

}

/1 Record a tie between the given Teans
public static void recordTi e(Teamteam, TeamteanB) {
if ((teamA !'=null) && (teanmB !'= null)) {
teamA. ti es++;
teanB. ti es++;

}

/1 Record a win and a | oss between the teans in the League with the given nanes

public static void recordW nAndLoss(League alLeague, String nmW String nm) ({
recor dW nAndLoss(t eamW t hNane(aLeague, nnmW, teamNthName(alLeague, nml));

}
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/1 Record a tie between the teans in the League with the given nanes
public static void recordTi e(League alLeague, String naneA, String nameB) ({

recordTi e(t eamW t hName(aLeague, naneA), teamAthNane(alLeague, naneB));
}

/1 Find a Teamwi th the given nane in the given League
public static Teamteam t hNane(League aleague, String naneTolLookFor) {
for (int i=0; i<alLeague.teans.length; i++) {
i f (aLeague.teans[i].nane. equal s(nameToLookFor))
return alLeague.teans[i];

return null;

}

/1 Determ ne the total nunber of ganes played in the | eague
public static int total GamesPl ayed(League alLeague) {
int total = 0;

for (int i=0; i<alLeague.teans.|length; i++)
total += ganesPl ayed(alLeague.teans[i]);

return total/2; // Divide by two since a gane is counted by both teans

}

/1 Return the teamthat has the npst points
public static Team firstPl aceTeam League aleague) ({
Team t eamN t hMbst Poi nts = aleague. t eans[ 0] ;

i f (aLeague.teans[0] == null)
return null;

for (int i=0; i<alLeague.teans.length; i++) {
if (total Points(alLeague.teans[i]) > total Points(team thMstPoints))
t eamW t hMost Poi nts = alLeague.teans[i];
}

return teamWt hMst Points;
}

/1l Return the teamthat has the |east points
public static Team | ast Pl aceTean{League alLeague) {

Team teamN t hLeast Poi nts = aleague.teans[0];
i f (aLeague.teans[0] == null)
return null;

for (int i=0; i<alLeague.teans.length; i++) {
if (total Points(alLeague.teans[i]) < total Points(team thLeast Points))
teamWN t hLeast Poi nts = aleague.teans[i];

}

return teanmWt hLeast Poi nts;
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public static void main(String args[]) {
League nhl = new League("NHL");

/1 Add a pile of teans to the | eague

nhl .t eans[ 0] new Tean("COttawa Senators");

nhl .t eans[ 1] new Tean("Montreal Canadi ans");
nhl . t eans[ 2] new Tean("Toronto Maple Leafs");
nhl . t eans[ 3] new Team("Vancouver Canucks");
nhl . t eans[ 4] new Tean("Ednmonton O lers");

nhl .t eans[ 5] new Tean{"Washi ngton Capitals");
nhl .t eans[ 6] new Tean("New Jersey Devils");
nhl . t eans[ 7] new Team("Detroit Red Wngs");

/1 Now we will record sone ganes
recordW nAndLoss(nhl, "Oitawa Senators", "New Jersey Devils");
recordW nAndLoss(nhl, "Ednmonton QO lers", "Mntreal Canadi ans");

recordTie(nhl, "Oitawa Senators", "Detroit Red Wngs");

recor dW nAndLoss(nhl, "Mntreal Canadi ans", "Wshington Capital s");
recor dW nAndLoss(nhl, "Ottawa Senators", "Ednonton GO lers");
recordTi e(nhl, "Washington Capitals", "Edmonton QO lers");
recordTie(nhl, "Detroit Red Wngs", "New Jersey Devils");

recor dW nAndLoss(nhl, "Vancouver Canucks", "Toronto Maple Leafs");
recor dW nAndLoss(nhl, "Toronto Maple Leafs", "Edmonton G lers");
recor dW nAndLoss(nhl, "New Jersey Devils", "Detroit Red Wngs");

/1 This one will not work
recor dW nAndLoss(nhl, "Mark's Team', "Detroit Red Wngs");

/1 Now display the teans again and sone statistics
Systemout.println("\nHere are the teans after recording the " +
"wins, losses and ties:\n");

di spl ayTeans(nhl);

Systemout.println("\nThe total nunber of ganes played is " +

t ot al GanesPl ayed(nhl));
Systemout.println("The first place teamis " + firstPlaceTeam(nhl));
Systemout.println("The |last place teamis " + |astPlaceTean(nhl));

}

Here would be the output (make sure that it makes sense to you) ...

Here are the teans after recording the wins, |osses and ties:

The Otawa Senators have 2 wins, O | osses and 1 ties.
The Montreal Canadi ans have 1 wins, 1 |osses and O ties.
The Toronto Mapl e Leafs have 1 wins, 1 |losses and O ties.
The Vancouver Canucks have 1 wins, O | osses and O ties.
The Ednonton O lers have 1 wins, 2 |osses and 1 ties.
The Washi ngton Capitals have O wins, 1 |losses and 1 ties.
The New Jersey Devils have 1 wins, 1 losses and 1 ties.
The Detroit Red Wngs have O wins, 1 |osses and 2 ties.

The total nunber of ganes played is 10

The first place teamis The Otawa Senators have 2 wins, 0 |osses and 1 ties.
The | ast place teamis The Washington Capitals have O wins, 1 losses and 1 ties.
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